R
(%N

pal
e

Tl o Hi

1

>

¥

()
1800

1600

1400

1200

1000

800

600

400

200

BRFAEEEEFNOHERS

20174
68308
1,531
=0
98308 .,".
015k 1,30444% O,
o=0
1A31H N
1,086 9H30H o=0"*
.—
a.—.’
108318 7 OO 3H31H
e . o...._._._( 1,450
/ 20164
o=0 3H31H
78318 1,20414%
98014
/.
®
/
®

BEASEHAERBBEBERTEEROT —54D [TRIRAEZEERZHS 1Fk



I 7E 238 = 2

H

N
)

IR5 tRE

()
180

o mmm Eirhl
ml =18
O — =
Q — Y
© W YEY
O w—
_.U_|nmnwv
Dy — (]
o = [¥=
o mm HE
QD — |2
S —
o mmm [T
M|Mmm
T — T
N EHE
Mlumm
on TIVE
mlmmlm
T — (1T
_M|%M_K
R — ]
Y, w— 7N
S wem E5=
D —— (Y
R —— 1]
X — 2
o mm {FE
~N o FEITI
o HE
M|_:m
N —TE
o mmm UK
o eeee——— || (3
E6|W.m%
i QL — 5|
%|mmﬁ
© mm SiE
moa o mm Y
noQ N —— Y
U ﬂ %7|W_m*
o o —
o9 O L
N : <+ = Hy
- o Y=
© m £=
™ —
S —— 0
o o o o o o o o (@]
O <r N o 0 O < ~
— — — —

EERH B M5

@R 11Fk

—A&D [HRARRIE

DT

T

o

FEESEEERFBIEER



9/410¢

G/L10¢

¥/LT0C

€/LT0C

¢/LT0C

1/L10C
Z1/910¢
T1/9102
0T/910C

6/910¢

8/910¢

£/9T0C

9/9T0C

G/910C

/9102

€/910¢

2/910C

1/9T0C
Z1/ST0C
TT/ST0C
0T/S10C

6/S10¢

8/STOT

L/ST0C

9/S10C

G/STOT

¥/ST0C

~ €/ST0T

2/ST0C

~ 1/ST0C
Z1/v10t
T1/¥10¢
0T/¥10¢

6/7T0C

b 8/¥10¢

o L/¥10T

i 9/¥10¢

— © S/¥10T

o /%102

65

=i =t

ITEZE)

113

106
86
77
48
44 44
39 37
27

H

N
I/
87
77
65
57
43
38 37
32 31
26 27 28 28

14

17

IFEZmLAFROHERE (RIERE

H

S

4
17

5

ELES

33

80

o
O

(1F)
120
100
40
20
0

R

pal

KRIRMHEHLERR

E [1FRY

o

1%

£

—AH&D [HRIRAITE =581

5

73

RDT

G

T8

o

FEESEEERFBIEER



